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1- The inductance of a solenoid depends on its dimensions and the ........... of the core |Fa:erial_
1) permeability 2) susceptance 3) susceptibility 4) permitivity

2- An antenna is a device that ........... electromagnetic energy into space.
1) receives 2) radiates 3) generates 4) converts

3 - In solving a circuit problem, the directions of the currents are chosen ...........
1) improperly 2) concurrently 3) arbitrarily 4) specifically

4 - Power transmission lines today span large distances making them more
induced voltages.

. 1o externally

1) compatible 2) extendable 3) reliable 4) susceptible
5- In clocks marked "Quartz" a crystal controlled oscillator ........... optimum accuracy.

1) operates 2) deploys 3) functions 4) ensures

6- The scientist was awarded a medal for his .
superconductors.
1) contribution 2) prohibition 3) basic 4) honor

to the fundamental understanding of

7- A laser pointer allows you to point at anything from a distance in virwally any light conditions.
Which word would best keep the méaning of underlined word?
1) absolutely 2) practically 3) formally 4) perfecily

8-1t would be fair to presume that many of the chips embedded in the electronic gear originated in
Japan. Which phrase would best keep the meaning of the underlined word?
1) divided reciprocally 2) separated designedly
3) fixed firmly 4} detached intensely

9- Most of today’s sophisticated missile systems rely on optical or infrared sensors, microprocessors
and video cameras, in addition to intricate guidance system. Which word would best keep the
meaning of underlined word?

1) preserved 2) complicated 3) disrated 4) intoned
10- A simple transformer consists of two separate coils of wire ........... close to each other
1) patched 2) insulated 3) installed 4) welded

11- With further .. n cable construction. it is now possible to transmit a tremendous number
of telephone conversations along a single cable.

1) refinements 2) classifications 3) purifications 4) adjusunents
12- Tobe ........... with printed eircuits, miniature tuned transformers had to be manufactured.
1) comparable 2) conventional 3) comprehensive 4) compatible
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13- In Frequency Modulation (FM), the frequency discriminator provides a better signal to noise

ratio and also a better ........... against other interfering signals.
1) enhancement 2) detection 3) interference 4) discrimination
14- Integrated Circuits (ICs) offer many advantages over .......... component circuils in size, cosl,
performance and reliability..
1) distributed 2) discrete 3) digital 4) analog

15- In power distribution systems, to reduce the power loss due 1o eddy currents, transformer cores
are constructed from ... magnetic metals.

1) laminated 2) diamagnetic 3) saturated 4) demagnetized
16- The power system configuration undergoes significant change in response to ........... load
pattern.
1) technological 2) personal 3) seasonal 4) cost

17-"Heuristic" means .. £
1) theoretical procedures 2) empirical methods
3) wrong observations 4) nonsensé assumptions

18- When an electron jumps from a higher encrgy orbit to a lower, a quantum of electromagnetic
energy is ........... in the form of'a photon.
1) modified 2) reflected 3) emitted 4) stabilized

19- IT the frequency response curve of the power amplifier is not flat, the audio output signal will be
1) distorted 2) attenuated 3) oscillated 4y demodulated
20- In an electromagnet the magnitude fux density remaining- in the core after removal of the

applied field is called the ........... of the core.
1) coercive force 2) retentivity 3) permeability 4) hystersis
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